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3 P i JE SRAEE 10% 20% 30% 40% 50% 60% 70%
4 TLE 168,900 152,010 135,120f 118,230( 101,340| 84,450 67,560 50,670
5 DR 258,900 233,010{ 207,120| 181,230| 155,340 129,450 103,560 77,670
6 e 212,450 191,205 169,960| 148,715 127,470 106,225 34,980 63,735
7 Tr7av 242,580 218,322 194,064| 169,806| 145,548| 121,290 97,032 12,774
8 iwbRE 48,560 43,704 38,848| 33,992 29,136 24,280 19,424 14,568
9 Ly 78,900 71,010 63,120 55,230| 47,340 39,450 31,5601 23,670
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4 TLE 168900 |=ROUND($C4*(1-D$3),0) =ROUND($C4*(1-E$3),0) =ROUND($C4*(1-F$3),0)
5 TR 258900 |=ROUND($C5*(1-D$3),0) =ROUND($C5*(1-E$3),0) =ROUND($C5*(1-F$3),0)
6 TR 212450 |=ROUND($C6*(1-D$3),0) =ROUND($C6*(1-E$3),0) =ROUND($C6*(1-F$3),0)
7 T 73y 242580 [=ROUND($C7*(1-D$3),0) =ROUND($C7*(1-E$3),0) =ROUND($C7*(1-F$3),0)
8 HEREE 48560 =ROUND($C8*(1-D$3),0) =ROUND($C8*(1-E$3),0) =ROUND($C8*(1-F$3),0)
9 Ly 78900 =ROUND($C9*(1-D$3),0) =ROUND($C9*(1-E$3),0) =ROUND($C9*(1-F$3),0)
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4 |=ROUND($C4*(1-G$3),0)  [=ROUND($C4*(1-H$3),0) |=ROUND($C4*(1-1$3),0) |=ROUND($C4*(1-J$3),0)
5 [=ROUND($C5*(1-G$3),00  |=ROUND($C5*(1-H$3),0)  |=ROUND($C5*(1-1$3),0) [=ROUND($C5*(1-J$3),0)
6 [=ROUND($C6*(1-G$3),00  |=ROUND($C6*(1-H$3),0)  |=ROUND($C6*(1-1$3),0) [=ROUND($C6*(1-J$3),0)
7 [=ROUND($C7*(1-G$3),00  |=ROUND($C7*(1-H$3),0)  |=ROUND($C7*(1-1$3),0) [=ROUND($C7*(1-J$3),0)
8 |=ROUND($C8*(1-G$3),0) =ROUND($C8*(1-H$3),0) =ROUND($C8*(1-1$3),0)  |=ROUND($C8*(1-J$3),0)
9 |=ROUND($C9*(1-G$3),0) =ROUND($C9*(1-H$3),0) =ROUND($C9*(1-1$3),0)  |=ROUND($C9*(1-J$3),0)
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